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(l) A particular solution  y(r) of

in#)? +(cost—1)2~1 | - .
—+y= (sin) (c:j ) satisfies the initial conditions »(0)=-2 and
o

the differential equation

d .
;,{-(O)=O. That is, y=-2 and %:0 at the initial time /=0. Please

compute y(r), the value of ¥t) at thetime f=r.

(25%)

( 2) Please find out the general
d6 d4 2
Fy+3073’+129%7y+100y=0.

solution of the differential equation

(25%)

35
¢ ?) The inverse Laplace transform of F(s)=

s’ +2s+0 can be denoted as

Sf(®) =Z7'{F(s)}. Please find out the expression of f(f). (25%)

( 4—) A particular solution Y(t) of the differential equation d{(ltt) —(tant)y(®) = cos(sinf)

satisfies the initial condition ¥(0) = 0. Please find out the
term

expression of y(¢). The
cos(sinf) in the above equation can also be expressed as cos(@) with
O =sint.

(25%)




